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* Model of computation

- Turing machine

-> X-calculu/Church

-> partial recursive function /Godel & Kleeme (

- camonical deduction Systems /Post

· URM /Unlimited Register Machine

i
Church-Turing thesis
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by an effective procedure a Turing machine
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continue according to the semantics
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URM-computable function
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* Function computed by a program

given a program
P and =1

: NK -- N

for las,ande if Provatoe
Question :

given F : N- IN how
many program computing f ?

infinitely many ormosse



EERCIse : Consider URM-machine without Tim ,
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C = class of functions computed by URr-
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Just observe that p is also a URM-program ,
huma f = Fe

rece Lut fee fin-N and let P be 0.

URM-program for f fi = f

Assume : P is well-formed , if it terminates it does at the
instruction following the last one

without loss of generality
We show that there is p'URM-program such thort

fi = F

by induction on h = number of instructions Tim , a) in P
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and thus p' = P works.
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Exercise : variant of URM machine
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